1. Tinned milk is less convenient than fresh milk. This means ……
. A) Tinned milk is more convenient than fresh milk
 B) Fresh milk is less convenient than tinned milk.
 C) Fresh milk is more convenient than tinned milk.
 D) Fresh milk isn’t as convenient as tinned milk
. 2. Japan is more industrialized than America. The sentence which has a similar meaning to the one above is:
 A) Japan isn’t as industrialized as America.
 B) Japan is less industrialized than America. 
C) America is more industrialized than Japan
. D) America isn’t as industrialized as Japan. 
3. Learning Chinese is more difficult than learning English. The sentence which has a similar meaning to the one above is:
 A) Learning Chinese is less difficult than learning English. 
B) Learning English isn’t as difficult as learning Chinese. 
C) Learning English is more difficult than learning Chinese.
 D) Learning Chinese is not as difficult as learning English. 
4. My watch is less attractive than yours. The sentence which has a similar meaning to the one above is: 
A) My watch is not as attractive as yours.
 B) My watch is as attractive as yours.
 C) My watch is more attractive than yours.
 D) My watch is the most attractive one.


 5. Rami can’t run as fast as Fadi. This means …….
 A) Rami can run faster than Fadi
. B) Rami can run as fast as Fadi
. C) Fadi can run faster than Rami
 D) Fadi cannot run as fast as Rami.


 6. Neither Maths nor Biology is as interesting as English. This means …..……….
. A) English is less interesting than Maths and Biology.
 B) Maths and Biology are more interesting than English
C) English is not as interesting as Maths and Biology.
 D) Maths and Biology are less interesting than English.
 7. Learning medicine is more difficult than learning biology and chemistry. 
A) Learning biology and chemistry is more difficult than learning medicine.
 B) Learning medicine is less difficult than learning biology and chemistry
. C) Learning biology and chemistry is not as difficult as learning medicine. 
D) Learning medicine is as difficult as learning biology and chemistry.
[bookmark: _GoBack]8. There’s less information on the website than there is in the book. 
A) There isn’t as much information on the website as in the book .
. B) There isn’t as many information in the book as in the website.
 C) There isn’t as much information in the book as on the website.
 D) There isn’t as many information on the website as in the book. 
